Find the gradient from the following sets of co-ordinates.

1)
(0, 4) and (2, 8)

2)
(0, 12) and (2, 3)

3)
(0, 0) and (6, 3)

4)
(0, 2) and (4, 0)

5)
(1, 2) and (5, 3)

6)
(0, 3) and (5, 2)

7) 
(-1, 1) and (-2, 2)

8)
(0, 2) and (2, 8)

9)
(4, 8) and (0, 16)

10) 
(4, 0) and (0, 5)

11)
(2, 1) and (1, 5)

12)
(3, -3) and (2, 1)

13)
(4, 4) and (2, 6)

14) 
(2, 1) and (1, 3)

15)
(4, -3) and (2, 1)

What is the gradient of the following sets of lines?

y = 3x – 4



4y = -2x –1

y = x + 3




y = -x + 2







        3

y = 2x – 4



y = 2x – 1

y =  -2x + 5



3y = 3x + 12

y = 11 – 3x



y = 2x + 7

y = x + 1




y = -3x + 2

2y = 12 – 3x



2y = 12 – 3x
3y = 11 – x



y = 9 – 4x
y = -x + 7




y = 16 – 2x
y = 6x – 2



8x + 16y = 320

Complete the following tables for the equations:-

	x
	-2
	-1
	0
	1
	2

	y
	
	
	
	
	


Y = x
       2



	x
	1
	2
	3
	4
	5

	y
	
	
	
	
	


y = 24

       x



	x
	0
	1
	2
	3
	4

	y
	
	
	
	
	


y = 10 – 2x


	x
	0
	1
	2
	3
	4

	y
	
	
	
	
	


Y = 4x – 2


	x
	0
	1
	2
	3
	4

	y
	
	
	
	
	


Y = x + 3

   2


Find the gradients of the following lines:-

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


	
	
	
	
	
	

	
	
	
	
	
	

	 
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


GCSE QUESTION

In this question the equations



x + 2y = 8 and y = x – 1






      2

are to be solved by graphical methods.

Complete the tables:-

	x
	2
	4
	6
	8

	y
	
	
	
	


x+ 2y = 8

y = x – 1


      2



	x
	2
	4
	6
	8

	y
	
	
	
	


Draw the straight lines of the equations on the same grid.

Give the solutions, x = ______ and y = ________.

